EARAROBEEIERT — 2 N— IBISH —F

20155FE7H158 (k) om&&HE1H

mkﬁﬁﬁﬁﬂﬂ A3b HS5FR—M (xwlw | lmEmml - |5 5) wom 8
[A&4] 1 #%:350,00 ~ 2#%&:63,00MH ~ 3#&:25,000MH  4#%:17,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
SEA . -1 - SREEX (BHE)
1177 AN T TY — 4 5 54_05 1.(2_9).4 1-1-1-1 | 38.2 2 <4+721) iacreiad
LT RIA YA BRI RF BEH Hi
D [ 4 4 | FEREA 1:29.5 4-4-2-2 | 38.1| — 1 444 | FEES (BHE)
EE o | XEU—-EEY R 56.0 (7€) @) | @ vy o5T
Y- BXEU-Ya2IN ESliEe
e AT :30. ~5-6- . - SBREX (BHE)
alglg| N2y L 4 6 N 1(370>9 6-5-6-4 | 38.6 4 12(5)32 Sl
R:A—JNH7x B:RU—LIXZTI H S
N N . FLEFRE R : ~6-5- — AMEtL (BHE)
4|55 FLTY s —H # 8 e 1(/731:5) 5-6-5-5 | 38.8 6 ?8)3 b
R:T7>75 B.TNHT4T N E%5%
S SIL S > 4 | ALE— 1:31.2 8-7-7-6 |38.4| — 5 432 | BFEBC (BHE)
5N 4| LT RINIERY “7 ] &0 (11/2) ) | @) k=27
R:d—IRK7Y2—)l B:IAYELTL— FERS
N 2 KIHEE :31. —-2-3- . = SiEEy (BHE)
6 6| *TTANITF—2 “A g (12311/27) $283 1403 s ?_4; HEEEE
L:F1—TAHA4 B:XIkOTavst-— RIS
.o — NAKEH . -3-4- — WEORE (BHE
2yl | 7rERTA it 5 e 1.(352>.7 2-3-4-7 | 40.7 7 (za_eg) ﬁsguﬁm
R:AAa3gyLvy B7AERTA4T7Z A B RS
= B 5 | BERAE 1:33.1 7-8-8-8 | 39.7| — 8 440 |MTZTEER (BEE)
8lg|g| 7M1/ #¥TN3 54.0 @ v | W) w37y
R:F15>8) B:I7YYvILEN #"HBET7—L4
NS = BERR— :35. -9-9- . — RERCS (ZHE)
9 NPECL PR it 6 R 1(395)0 9-9-9-9 | 40.6 9 (4_2; e G
Lexrindin— B:xavI777V71 NYERNTT—L
® I—F—@EBIERL
15l=2F= 7,1,6,2,5,8,9,4,3
Ao=5"= 7,6,1,2,8,5,4,9,3
T =35r= 7,2,6,1,5,8,4,9,3
41—F— 7,2,6,8,5,4,1,9,3
[ RN
B 7 270M 794K 2-7 120M & 2-7 1504 &R 2-7-8 640/
# B 7 1004 7-8 470 B E 2-7 190M EE 7-2-8 2,520
2 1004 2-8 280M B H 7-2 570M
8 1509

ABICOVWTRDTEEERROODE. TR LIV,




